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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
SOCIAL STUDIES

It was started in 1968 by Dr. Robert Peterson as a competition for Orange County, California, schools, and expanded nationwide in 1981. Each school sends a team of nine students, sorted by GPA into Honor, Scholastic, and Varsity divisions. This year, the Civil War will be the topic of its ‘Superquiz.’ Texas and California schools have usually won what scholastic event that features, as its name implies, competitions in ten events? 

ANSWER: United States Academic Decathlon
TOSSUP 2
LITERATURE

The creatures in this book were supposed to be horses, but the illustrator couldn’t draw horses, and used generic ‘beasts’ instead. The beasts include Aaron, Bernard, Emil, Moishe, Tzippy, and Goat Boy. Its protagonist rejects their kingship in favor of going back home, where his supper is waiting for him, ‘still hot.’ Max meets a number of creatures in a mysterious forest in what picture book by Maurice Sendak?

ANSWER: Where the Wild Things Are

TOSSUP 3
MATH

THIS IS A COMPUTATION QUESTION. What is the slope of a line parallel to the line 24x minus 3y equals 96?

ANSWER: eight
TOSSUP 4
SCIENCE

In many minerals, this element appears as an anion (an-eye-awn) bonded to one or more atoms of an electronegative element. Often it will appear in minerals, such as amethyst and opal, with bonds to oxygen.  What is this element, a primary component of quartz and glass and the second-most common in the earth's crust?

ANSWER: silicon
TOSSUP 5
MISCELLANEOUS

Memorable scenes from this movie include a woman named Lucille washing her car and an egg-eating contest in which the title character eats 50 eggs while being egged on by fellow convict Dragline. The main character is shot while hiding in a church after a third unsuccessful escape. The phrases, ‘You shaking it?’ and ‘What we got here is failure to communicate’ are from what movie starring Paul Newman?

ANSWER: Cool Hand Luke
TOSSUP 6
FINE ARTS

This 1924 movie was based on Frank Norris’ novel McTeague. John is a dentist, and his wife, Trina, finds a winning lottery ticket. Marcus, Trina’s old boyfriend, exposes John as a fraud, and everyone’s lives are ruined. What is this Erich von Stroheim movie about people being very selfish, as the one-word title might indicate? 


ANSWER: Greed
TOSSUP 7
SOCIAL STUDIES

He served with Rutherford B. Hayes in the 23rd Ohio regiment during the Civil War. In 1890, he lost re-election for his House seat on the unpopularity of his high tariff. With the help of Senator Mark Hanna, he was able to overcome the free silver arguments of his opponent, William Jennings Bryan, and win the Presidency. The bullet of anarchist Leon Czolgosz (chol-gosh) ended the life of what President on September 14, 1901? 

ANSWER: William McKinley
TOSSUP 8
LITERATURE

At the start of this novel, Rosa the Beautiful is accidentally poisoned; her father, the Liberal politician Severo del Valle, was the intended target. It focuses on the hacienda of Tres Marias and the long marriage of its owners, Esteban and Clara Trueba (troo-ay-bah). Pablo Neruda and Salvador Allende (ah-yayn-day) are known only as the ‘Poet’ and the ‘Candidate’ in what first novel by Isabel Allende? 

ANSWER: The House of the Spirits or La Casa de los Espiritus
TOSSUP 9
LANGUAGE ARTS

It is the name of the first deodorant soap made in the USA; its makers also make Right Guard deodorant. It is the name of three magazines: a 1920s Modernist literature magazine, an 1880’s political magazine, and an 1840’s Transcendentalist magazine. It also refers to a tunable knob, like that found on a radio. What word refers to a disk with 10 numbered finger holes on old rotary telephones, used to make a call?

ANSWER: dial
TOSSUP 10
MATH

THIS IS A COMPUTATION QUESTION. In Roman numerals, what is the positive square root of CCCXXIV, which, in decimal numbers, is 324?

ANSWER: XVIII
TOSSUP 11
SOCIAL STUDIES

This dynasty traces back to Andrei Kobyla (koh-bih-lah), a Master of the Horse for Semyon I; this is ironic considering the rumors floating about one of this dynasty’s female members. After the death of Elizabeth I in 1762, it added Holstein-Gottorp to its name, started anew with Peter III, and then continued to rule until 1917. Nicholas II was the last king of what Russian dynasty? 

ANSWER: Romanov dynasty

TOSSUP 12
SCIENCE

White and soft ones are in the subgenus Strobus.  It is resinous with needles for leaves.  Types of them include foxtail, shortleaf, whitebark, knobcone, red, pitch, and Virginia.  Name this softwood evergreen conifer whose uses include obtaining turpentine from their resin and as Christmas trees.

ANSWER: pine
TOSSUP 13
LITERATURE

Potiphar’s wife falsely accused him of rape and had him thrown in jail. While there, he interpreted the dreams of the cupbearer and the baker, as well as determining that Egypt would have seven good and then seven bad years. During the bad years, he then meets his eleven brothers who had sold him into slavery. Whose father, Jacob, gave to him a coat of many colors in the book of Genesis? 

ANSWER: Joseph
TOSSUP 14
MATH

The C revision of this standard has proposed dropping the 6 pin or 9 pin connection of previous versions and instead using the same category 5 and RJ-45 connectors as Ethernet cabling. This would provide higher speeds over version A’s 400 mega bits per second and B’s 800 mega bits per second. Name this cable standard that is a rival of USB.

ANSWER: Firewire or IEEE 1394
TOSSUP 15
SCIENCE

First performed in Cleveland in 1887, it helped win one of its namesakes the 1907 Nobel Prize in Physics.  It used a light source, a half-silvered mirror to split the light source into beams traveling at right angles to each other, more mirrors, and an eyepiece to look for interference fringes.  Name this experiment that failed to detect luminiferous ether.

ANSWER: Michelson-Morley experiment

Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
SOCIAL STUDIES

The failure of INTELSAT III nearly scrubbed it. Had it failed, the line, ‘there is some corner of another world that is forever mankind,’ would have been spoken. Its three members went on a 45-day, 25-country ‘Giant Leap’ tour. Modules Columbia and Eagle, and astronauts Michael Collins, Buzz Aldrin, and Neil Armstrong were associated with what NASA mission, the first to send a man to the moon? 

ANSWER: Apollo 11
BONUS 16
LITERATURE

Name these American authors who were born elsewhere.

A.
This 1978 Nobel Laureate and author of Gimpel the Fool was a leader of the Yiddish literary movement.

ANSWER: Isaac Bashevis Singer

B.
Old Possum’s Book of Practical Cats was penned by this British-American author.

ANSWER: T.S. Eliot

C.
The Adventures of Augie March was penned by this Canadian-born author.

ANSWER: Saul Bellow

D.
This English-born political author penned Common Sense in 1776.

ANSWER: Thomas Paine

TOSSUP 17
SOCIAL STUDIES

He wrote the short story collection Escape to Hell and the political Green Book. He holds no office save being the head of his Amazon guards – he is only the ‘Brotherly Leader and Guide of the Revolution,’ referring to the 1969 coup that overthrew Idris I. He was a supporter of terrorist movements in the 1980’s, but has moderated and pioneered the formation of the African Union. What colonel continues to rule Libya? 

ANSWER: Moammar Abu Minyar al-Gaddafi (or Khadhafi)

BONUS 17
SCIENCE

Answer these questions about cancer.

A.
More than 1 million Americans will be diagnosed with what most common cancer, whose types include basal cell carcinoma and squamous cell carcinoma?


ANSWER: skin cancer

B.
Some research indicates that most men over 50 get a mild form of this cancer, of which 230,000 men – and only men – get every year in the US?


ANSWER: prostate cancer

C.
What type of cancer, caused by the HHV8 virus and named for the Hungarian doctor that identified it in 1872, was very rare until it started showing up in AIDS patients in the early 1980s?


ANSWER: Kaposi’s sarcoma
D.
What cancer attacks the blood or bone marrow, and comes in four varieties: ALL, AML, CLL, and CML? 


ANSWER: leukemia
TOSSUP 18
FINE ARTS

This song appeared in a compilation by Marvin Frey in 1939, and a missionary family that went to Angola changed the lyrics somewhat. In this song, the Lord is told that someone is laughing, crying, praying, and singing. What hymn is today associated with naive hippies? 

ANSWER: “Kum-Ba-Ya” or “Come By Here”

BONUS 18
MATH

THIS IS A COMPUTATION QUESTION. How many total bases are the following?

A.
14 home runs, 8 triples, 34 doubles, and 24 singles.
ANSWER: 172
B.
23 home runs, 3 triples, 12 doubles, and 35 singles.
ANSWER: 160
C.
54 home runs, 9 triples, 34 doubles, and 65 singles.
ANSWER: 376
D.
35 home runs, 
11 triples, 8 doubles, and 6 singles.
ANSWER: 195
TOSSUP 19
MATH

THIS IS A COMPUTATION QUESTION. What is the slope of a line perpendicular to the line x plus 3y equals 24?

ANSWER: three
BONUS 19
MATH

THIS IS A COMPUTATION QUESTION. Convert the following radian measures into degrees.

A.
5 pi over 9.


ANSWER: 100 degrees
B.
3 pi over 4.


ANSWER: 135 degrees
C.
pi over 9.


ANSWER: 20 degrees
D.
4 pi over 45.


ANSWER: 16 degrees
TOSSUP 20
LITERATURE

This novel’s title character begins her climb when she played Laura in the play Under the Gaslight, and continues it in New York with Lola Osborne. She had begun her life in rural Wisconsin, and found the factory life with her sister Minnie and brother-in-law Sven Hanson tedious. She meets Charles Drouet and then her husband George Hurstwood. Caroline Meeber is the main character of what novel by Theodore Dreiser? 

ANSWER: Sister Carrie
BONUS 20
MISCELLANEOUS

From the description of an accounting term, name the term.

A.
Distribution of a single lump-sum cash flow into many smaller cash flow installments that contain both principal and interest portions.

ANSWER: Amortization
B.
Coming from Latin meaning, ‘to believe,’ is this term. 

ANSWER: Credit
C.
Coming from Latin meaning, ‘to owe,’ is this term.

ANSWER: Debit
D.
Defined as an obligation of an entity arising from past transactions or events.

ANSWER: Liability
TOSSUP 21
MISCELLANEOUS

The town of Puerto Cabezas suffered extremely heavy damage from it. Its pressure dropped by over 3 millibars an hour, something the National Weather Service said was ‘one of the more rapid deepening rates we have observed.’ Its landfall on September 4 marked the first time two Category Five hurricanes made landfall in a single season. What was this sixth storm of the 2007 Atlantic hurricane season? 


ANSWER: Hurricane Felix 

BONUS 21
SOCIAL STUDIES

Answer these questions about the Grant Administration.

A.
Yosemite was the first ‘National Grant,’ but what first ‘National Park’ was created in 1872? 

ANSWER: Yellowstone National Park

B.
In 1875, trials started in Jefferson City over what scandal that ultimately resulted in 110 convictions? 

ANSWER: Whiskey Ring
C.
Name either of Grant’s two Vice-Presidents. 

ANSWER: Schulyer Colfax or Henry Wilson
D.
Name either of Grant’s opponents that he defeated in 1868 or 1872. 


ANSWER: Horatio Seymour or Horace Greeley
TOSSUP 22
SCIENCE

Its scientific name is Raphus cucullatus.  Discovered in 1581, this close relative of pigeons and doves was about three feet tall, ate fruit, nested on the ground, and was extinct by the late 1600s.  Name this extinct flightless bird that lived on the Indian Ocean island of Mauritius, and was apparently not very smart. 

ANSWER: dodo
BONUS 22
SOCIAL STUDIES

Identify these Russian rulers.
A.
This Grand Prince of Vladimir defeated the Swedes twice, once in 1240 and again in 1256. 


ANSWER: Alexander Nevsky (accept either)

B.
He was the first to declare himself ‘tsar of all Russia,’ ruling between 1547 and 1584. 


ANSWER: Ivan IV or Ivan the Terrible
C.
He ruled with his invalid brother Ivan V between 1682 and 1696, and then ruled on his own between 1696 and 1721.



ANSWER: Peter the Great or Peter I
D.
Who ruled Russia between 1598 and 1605 and was the subject of an opera by Modest (MOH-dest) Mussorgsky? 

ANSWER: Boris Gudunov
TOSSUP 23
LITERATURE

He had an affair with the opera performer Celine Varens (vah-rawn), which may have resulted in a daughter, Adèle. He was engaged for a while to Blanche Ingram. His servants include Alice Fairfax and Grace Poole. Whose house, Thornfield, was burned down by his insane wife, Bertha Mason, allowing him to marry Jane Eyre? 

ANSWER: Mr. (Edward) Rochester

BONUS 23
LITERATURE

Name these novels by Thomas Hardy from clues.

A.
The title character of this novel is Michael Henchard, who sold his wife and child in a drunken stupor years earlier.

ANSWER: The Mayor of Casterbridge

B.
Many critics consider Diggory Venn to be the title character of this novel that takes place in Egdon Heath.

ANSWER: The Return of the Native

C.
The title character in this novel, the daughter of Joan and Jack, kills Alec with a knife to the heart after he stalks her.

ANSWER: Tess of the d’Urbervilles

D.
Bathsheba saves Gabriel’s life in this fourth novel of Hardy’s – his first commercial success.

ANSWER: Far from the Madding Crowd

TOSSUP 24
SCIENCE

This features a dull luster and yellow streak, with cubic cleavage and isometric crystals.  Most often it is found inland, in areas where inland seas or lakes have evaporated.  Once abundant in southwest Virginia, the mining of this mineral gave its name to both a town in Smyth County and the original name of Roanoke.  What is this mineral, used for ice removal in winter and flavoring in the form of table salt?

ANSWER: halite or sodium chloride (accept salt before it is said in the question)

BONUS 24
SCIENCE

Name these chemists:

A.
This Russian chemist developed the first modern periodic table.

ANSWER: Dmitri (Ivanovich) Mendeleyev [MEN-duh-LAY-ev or MEN-duh-lev]

B.
This beheaded French chemist stated the first modern version of the law of conservation of mass.

ANSWER: Antoine(-Laurent de) Lavoisier [luh-vwah-zee-ay]

C.
This German chemist discovered the structure of benzene; late in life, he described it in terms of a vision of a snake biting its tail

ANSWER: August Kekulé [KEK-yoo-lay] or Friedrich August Kekule von Stradonitz 

D.
Either of the two chemists credited with discovering oxygen

ANSWER: Joseph Priestley or Carl Wilhelm Scheele [SHAY-luh]

TOSSUP 25
MATH

THIS IS A COMPUTATION QUESTION. What is the value of 8 factorial divided by 4 factorial, which is equal to 5 times 6 times 7 times 8?

ANSWER: 1680
BONUS 25
LANGUAGE ARTS

Name these “fore-“ words.

A.
The leader of a jury is often called this.


ANSWER: foreman (accept forewoman)

B.
In hockey, this is the practice of impeding the advance of your opponent in his own defensive zone.


ANSWER: forecheck

C.
This is the artistic term for a scene nearest to the viewer.


ANSWER: foreground

D.
This ten-letter word was used famously in an 1863 speech to refer to our ancestors.


ANSWER: forefather(s)
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
MATH

THIS IS A COMPUTATION QUESTION. What is the value of 3 to the negative fourth power, given that 3 to the fourth is equal to 81?

ANSWER: 1/81
TOSSUP 27
LITERATURE

His 1833 ‘Common Version’ of the Bible was an update to the King James Version. He wrote the ‘Blue-Backed Speller’ that was used in elementary reading instruction for decades. Most notably, he got rid of the ‘u’ in ‘color,’ changed ‘re’ to ‘er’ in ‘center,’ and put an ‘s’ in ‘defense.’ In 1843, George and Charles Merriam gained the publishing rights to what man’s dictionary? 

ANSWER: Noah Webster
TOSSUP 28
FINE ARTS

In the country of its origin, men perform as well, and it is known as raqs sharqi (raks shark-kee). The American practice of dancing for a mixed-gender group is less common in the country of its origin, as are the often-skimpy female costumes called bedlah. Its American Tribal Style variety was “founded” by Jamila Salimpour. What dance style came to America via the 1893 World’s Fair’s Theater of the Street in Cairo?

ANSWER: belly dancing (accept Oriental dancing or Middle East dancing)

TOSSUP 29
LITERATURE

When he appeared at the palace of King Eurystheus (you-ris-thee-us) his spittle formed poisonous plants. He occasionally took naps: Hermes used water from the river Lethe (leh-thee) to cause one, Orpheus used his musical skills to put him to sleep, but he was a sucker for drugged honeycakes, with Aeneas (uh-nee-us) and Psyche both using them. What guardian of the gates of Hades was a dog with three heads?

ANSWER: Cerberus
TOSSUP 30
MATH

THIS IS A COMPUTATION QUESTION. What is the perimeter of a square with an inscribed circle of circumference 15 pi feet, remembering that the diameter of the circle equals the side length of the square?

ANSWER: 60 feet
TOSSUP 31
SOCIAL STUDIES

In 2000, this landmark began a renovation that should be completed by 2008, in time for its 300th anniversary of its rebuilding. The building here is the fifth church of the same name: it had been destroyed by pagan Saxons in 675, by pagan Vikings in 961, by an ordinary fire in 1087 (along with the body of Ethelred the Unready), and by the Great Fire in 1666. What London landmark was then redesigned by Sir Christopher Wren? 

ANSWER: St. Paul’s Cathedral
TOSSUP 32
SOCIAL STUDIES

He was sentenced to prison after the election of William Wickham. He escaped and fled to Cuba, and then to Spain, before being sent back to the United States, where he died at the Ludlow Street Jail. He used a pliable mayor, Oakey Hall, to help loot an estimated $100 million over two years. Who was the head of New York City’s political machine, Tammany Hall?

ANSWER: William M. “Boss” Tweed
TOSSUP 33
SCIENCE

When he was dying in 1936, he had a student record his experiences. Despite not being a Communist, the Soviets encouraged his research on neuroses. His first research was on the composition of saliva, but he abandoned it to research why animals salivate to certain stimuli. Who won a Nobel Prize for his work on the digestive system, but famously worked on conditioning in dogs? 

ANSWER: Ivan Pavlov (PAV-loff)

TOSSUP 34
SOCIAL STUDIES

NO CALCULATION IS NEEDED. This economic term came into use in 1992. Its first word means depreciation of capital goods is not included. Take the consumption that occurs in a country. Then add the total private sector investment. Then add the total government expenditures. Add exports, and finally subtract imports. You have what economic figure that for the United States in 2006 broke the $13 trillion barrier? 

ANSWER: gross domestic product or GDP (DO NOT accept ‘gross national product’ or ‘GNP’)
TOSSUP 35
SCIENCE

It can be regarded as mass times change in velocity, or force times time, or as the change of momentum of an object.  In units, it is kilograms times meters per second or newtons times seconds.  Name this term that is the integral of force with respect to time that is usually abbreviated with a capital I.

ANSWER: impulse
TOSSUP 36
LANGUAGE ARTS

When a lawyer uses this word with ‘simple’ or ‘tail,’ it refers to a piece of land that can be inherited. When she uses it with the word ‘contingency,’ it refers to a fee that is paid only if the case is won. When a college administrator uses this word with ‘tuition’ or ‘student activity,’ it refers to a bill that must be paid. What is this word that also goes with ‘toll’ in reference to a fixed charge for a service? 

ANSWER: fee(s)

TOSSUP 37
MISCELLANEOUS

Despite this fabric’s name, the largest producers of it are Mongolia and China. Fibers must be under 18.5 microns in diameter and at least 3.175 centimeters long. What is this fine wool obtained from the undercoat of a goat of the same name?


ANSWER: cashmere or pashmina
TOSSUP 38
SCIENCE

First isolated by Friedrich Serturner in 1804, its chemical formula is C17H19NO3.  Its side effects include coma, renal failure, nausea, hypoventilation, and possibly death, making it less useful as a cure for opium addiction.  Heroin is derived from this highly addictive painkiller.  Name this opiate that is named after the Greek god of dreams.

ANSWER: morphine
TOSSUP 39
LITERATURE

Her name was probably taken from a character in The Faerie Queene who was also hanged. Nahum Tate adapted the play she appears in so she married Edgar and her father was restored to kinghood; her friend the Fool disappeared from the entire play. Despite being faithful, she refused to flatter her father like her sisters Regan and Goneril. Who was then dispossessed by her father, King Lear? 

ANSWER: Cordelia 

TOSSUP 40
MATH

THIS IS A COMPUTATION QUESTION. If A equals 1 through Z equals 26, what is the numerical value of G times R times P, given that G equals 7, R equals 18, and P equals 16?


ANSWER: 2016
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
SOCIAL STUDIES

Domitian built a connection between his palace and this structure located between the Aventine and Palatine hills. Trajan expanded the imperial seating. Julius Caesar made expansions that made it nearly 2,000 feet long and 400 feet wide and made its seating capacity an estimated 250,000. What Roman landmark was famous for its chariot racing? 

ANSWER: Circus Maximus
BONUS 41
FINE ARTS

Sometimes a painter chooses to paint musical instruments.  Identify the following.

A.
This Flemish painter depicts two men playing an instrument similar to a bagpipe in his Peasant Wedding.

ANSWER: Pieter Brueghel (broy-ghel) the Elder

B.
He painted people being crucified on musical instruments in the third panel of his triptych, The Garden of Earthly Delights.

ANSWER: Hieronymus Bosch
C.
A mandolin, a lion, and the moon accompany the recumbent title figure in this 1897 work by Henri Rousseau.

ANSWER: The Sleeping Gypsy
D. 
In 1913, this French cubist painted Woman with Guitar or Young Girl with Guitar, which, of course, looks very little like a person or an instrument.

ANSWER: Georges Braque
TOSSUP 42
MISCELLANEOUS

Since 2005, he has led campaigns against threats including Lutherans, the Toronto Raptors, and bears. He has declared bowtie pasta and owls, among other things, as ‘dead to him.’ Merriam-Webster's 2006 Word of the Year was coined on his show.  That word, ‘truthiness,’ was coined by what host of a spinoff of Comedy Central's The Daily Show?

ANSWER: Stephen Colbert
BONUS 42
MATH

THIS IS A COMPUTATION QUESTION. What are the products of the following complex numbers?

A.
3 plus 7i and 11 plus 8i

ANSWER: -23 plus 101i
B.
4 plus 9i and 3 minus 10i

ANSWER: 102 minus 13i
C.
7 minus 4i and 8 minus 19i

ANSWER: -20 minus 165i
D.
6 minus 11i and 2 plus 5i

ANSWER: 67 plus 8i
TOSSUP 43
SCIENCE

Its scientific name is Solanum lycopersicum and its leading producers are China, the United States, and Turkey.  Types of them include Early Girl, Black Krim, Green Zebra, Big Boy, Brandywine, and Beefsteak.  Name this vine-grown fruit that according to U.S. tariff laws is a vegetable. 

ANSWER: tomato
BONUS 43
SOCIAL STUDIES

Identify these terms associated with inflation.

A.
The rule of what number is a convenient way to predict how many years it will take for prices to double?


ANSWER: seventy-two
B.
What now-discredited curve stated that when unemployment went down, wages and inflation went up?


ANSWER: Phillips curve

C.
The Phillips curve was disproved in the 1970s when what condition – a portmanteau that described the combination of higher prices with slow economic growth – emerged? 


ANSWER: stagflation
D.
The CPI is used to measure the inflation rate in the United States. What does ‘CPI’ stand for?


ANSWER: Consumer Price Index
TOSSUP 44
LITERATURE

After her death, her lover ‘sought to borrow / From my books surcease of sorrow.’ The lover asks a visitor if she is now clasped ‘within the distant Aidenn,’ and to ‘quaff, oh quaff, this kind nepenthe’ to forget her. ‘Nevermore’ is the reply to those questions. What ‘rare and radiant maiden’ is spoken of in Edgar Allan Poe’s poem, ‘The Raven’? 

ANSWER: Lenore (from “the Raven”)

BONUS 44
MATH

THIS IS A COMPUTATION QUESTION. Complete the following patterns.

A.
4, 7, 14, 17, 34, 37 and blank.


ANSWER: 74
B.
3, 9, 10, 30, 31, and blank.


ANSWER: 93
C.
4, 6, 12, 18, 36, 54, 108, and blank.

ANSWER: 162
D.
5, 11, 14, 29, 32, 65, and blank.

ANSWER: 68
TOSSUP 45
MATH

Its name is from the Greek for absence. It can be defined by an equation of the form Ax2 + Bxy + Cy2 + Dx + Ey + F = 0 (read as:  a x squared plus b x y plus c y squared plus D x plus E y plus F equals zero), provided that B squared is less than 4AC. What ovoid conic section is the set of points with the same sum of distances to two points, known as foci (foh-sigh)? 

ANSWER: ellipse
BONUS 45
LITERATURE

Identify the epistle of Paul from a quote.

A.
‘For the wages of sin is death, but the gift of God is eternal life in Jesus Christ our Lord.’


ANSWER: Romans
B.
‘I know what it is to be in need, and I know what it is to have plenty. I have learned the secret of being content in any and every situation.’


ANSWER: Phillipians

C.
‘I appeal to you for my son Onesimus (oh-neh-sih-mus), who became my son while I was in chains.’


ANSWER: Philemon
D.
‘And now these three remain: faith, hope, and love. But the greatest of these is love.’


ANSWER: First Corinthians or 1 Corinthians (DO NOT prompt on ‘Corinthians’)

TOSSUP 46
LANGUAGE ARTS

It is descended from the Glagolitic script, and credit for inventing it is also attributed to Saint Methodius, in addition to the other saint for whom it is named. It has been replaced with the Latin alphabet in Moldovan, and is being replaced in Mongolian. The sound of “v” looks like a Latin letter “B” in what alphabet used to write Bulgarian and Russian?

ANSWER: Cyrillic alphabet

BONUS 46
SCIENCE

The four largest moons of Jupiter are collectively named the Galilean moons. Name those four moons.

ANSWER: Callisto [kuhl-LIS-toh]


Europa

Ganymede

Io [EYE-oh]

TOSSUP 47
LITERATURE

He joined the Ground Self-Defense Force in 1967, and founded the Shield Society a year later. He is also known for his novels, such as The Temple of the Golden Pavilion, the Sea of Fertility tetralogy, and Confessions of a Mask. After an unsuccessful military coup on November 25, 1970, who committed hara-kiri? 

ANSWER: Mishima Yukio or Yukio Mishima
BONUS 47
MISCELLANEOUS

Identify these sitcoms from the character that came to steal the show. 

A.
Alex P. Keaton. 

ANSWER: Family Ties

B.
Steve Urkel.


ANSWER: Family Matters
C.
Arthur Fonzarelli.

ANSWER: Happy Days
D.
J.J. Evans.


ANSWER: Good Times

TOSSUP 48
SOCIAL STUDIES

In 1798, he commanded the army that would have attacked Spanish possessions had the undeclared war with France become official. His reputation was thus salvaged from the Maria Reynolds affair. His idea of electing Senators for life was not adopted by the Constitutional Convention. What writer of 51 Federalist Papers and first Secretary of the Treasury is honored by being on the ten dollar bill?

ANSWER: Alexander Hamilton
BONUS 48
SOCIAL STUDIES

Given a Presidential election, name the candidate that came in third.
In 1860, this Constitution Union candidate placed third in electoral votes but fourth in the popular vote count.


ANSWER: John Bell
In 1980, this liberal Republican ran against both Carter and Reagan.


ANSWER: John Anderson
He finished third in both 2000 and 2004 (let’s not count the elector who voted for John Edwards as President and Vice-President.)


ANSWER: Ralph Nader
In 1968, this former governor of Alabama carried five Southern states.


ANSWER: George Wallace
TOSSUP 49
SCIENCE

Saline intrusion can occur in these when overpopulation in coastal areas draws too much out of one of these resources, lowering the underground table and contaminating the supply.  Some, like the Ogallala, were filled during the last glacial period, while others are continually replenished.  What are these areas of permeable rock, usually surrounded by bedrock and tapped into as a water source?

ANSWER: aquifer
BONUS 49
LITERATURE

Name these novels that deal with the era of American urbanization.

A.
The title character of this 1900 Theodore Dreiser novel becomes a mistress in the big city, and then an actress.

ANSWER: Sister Carrie

B.
Carrie was lucky compared to this title character, whom it is assumed turned to prostitution in the big city in this Stephen Crane novel.

ANSWER: Maggie: A Girl of the Streets

C.
The horrors of the Chicago meatpacking industry were exposed in this 1906 muckraking work by Upton Sinclair.

ANSWER: The Jungle

D.
Subtitled “Street Life in New York with the Bootblacks,” this 1868 dime novel by Horatio Alger tells the story of a boy determined to succeed in the city.

ANSWER: Ragged Dick

TOSSUP 50
MATH

THIS IS A COMPUTATION QUESTION. What integer between 2250 and 2350 is a perfect square?

ANSWER: 2304
BONUS 50
SCIENCE

Which class of organic molecules contains these functional groups?

A.
A carbon-carbon double bond?

ANSWER: alkene or olefin
B.
An OH group?

ANSWER: alcohol
C.
A COOH group?

ANSWER: carboxylic acid
D.
A nitrogen atom single-bonded to one or more carbon atoms?

ANSWER: amine [do not accept “amide”]
END OF MATCH

Spare questions
TOSSUP 51
MATH

It consists of thirteen books and was written circa 300 BC.  Books seven through ten deal with number theory, book thirteen deals with Platonic solids, book five deals with proportions, book four deals with polygons, and book three deals with circles.  Name this masterwork of mathematics, especially geometry, by Euclid.

ANSWER: Elements or Stoicheia
BONUS 51
MISCELLANEOUS

Given a statistic, name who led the Major Leagues in that statistic for the 2007 regular baseball season.  

A.
Home Runs

ANSWER: Alex Rodriquez or A-Rod

B.
Stolen Bases

ANSWER: Jose Reyes

C.
Earned Run Average
ANSWER: Jake Peavy
D.
Saves


ANSWER: Jose Valverde
TOSSUP 52
SCIENCE

It occurs at temperatures and pressures below the triple point and its opposite is deposition.  Zinc and cadmium can do this at low pressures and iodine, arsenic, and carbon dioxide can do it at atmospheric pressure.  Name this endothermic phase transition that goes directly from solid to gas.

ANSWER: sublimation (accept word forms such as sublimate)
BONUS 52
LANGUAGE ARTS

Take the Spanish verb tomar (toh-MAR). Given a tense, conjugate the verb in the first person singular. 
A.
Present subjunctive.

ANSWER: (yo) tome (TOH-may)
B.
Imperfect indicative.

ANSWER: (yo) tomaba (toh-MAH-bah)

C.
Pluperfect indicative.



ANSWER: (yo) había tomado (ah-BEE-ah toh-MAH-doh)
D.
Conditional.


ANSWER: (yo) tomaría (toh-mah-REE-ah)
TOSSUP 53
MISCELLANEOUS

This man's clients included Sean Combs, whom he represented on weapons charges. In 1993, he defended Michael Jackson on charges of inappropriate contact with a child.  He founded his own national law firm following his most famous acquit, which included a demonstration of bloody gloves ‘that did not fit.’ What lawyer died of a brain tumor in 2005, and is most famous for defending OJ Simpson?

ANSWER: Johnnie Cochran
BONUS 53
MATH

THIS IS A COMPUTATION QUESTION. Answer the following about 12, 48, 47, 33, 12, and 118.

A.
What is the mean?


ANSWER: 45
B.
What is the median?


ANSWER: 40
C.
What is the mode?


ANSWER: 12
D.
What is the sum?


ANSWER: 270
TOSSUP 54
FINE ARTS

An advertisement for Phillies cigars is atop the building in this painting. There is no visible way out for the staffer trapped behind a triangular bar, nor for his three patrons – a redheaded woman, a man in a gray hat, and a third man whose back is to the viewer. What Edward Hopper painting, apparently set late on a summer evening, features three customers and a staffer in a diner? 

ANSWER: Nighthawks
BONUS 54
SCIENCE

Answer these questions about cats.

A.
What genus are cats a part of?

ANSWER: felis or feline(s)

B.
What is the only type of cat that is tailless?


ANSWER: Manx (accept Cabbit or Cymric)

C.
What name is given to the reflex that enables cats to always land on their feet?


ANSWER: righting reflex

D.
The ‘TNR’ strategy is used to try and control feral cat populations. What does ‘TNR’ stand for?


ANSWER: trap, neuter, and release (or return)

TOSSUP 55
LITERATURE

This god wasn’t always evil – in early myth, he fought an evil demon called Apep (ah-pep) every day. His head was of an otherwise-unknown animal called the Typhonic beast. However, after the Hyksos were defeated, this desert god became 100% pure evil. What god of Egyptian mythology is best-known for his conflict with Horus and Osiris? 

ANSWER: Set or Seth
BONUS 55
SOCIAL STUDIES

I’ll give you a state you give me the number of states it borders.

A. 
Maine

ANSWER: One (New Hampshire)

B. 
Texas

ANSWER: Four (Louisiana, Arkansas, New Mexico, Oklahoma

C. 
Wyoming 

ANSWER: Six (Utah, Colorado, Idaho, Montana, South Dakota, Nebraska)

D. 
Iowa

ANSWER: Six (Minnesota, South Dakota, Nebraska, Missouri, Illinois, Wisconsin)

TOSSUP 56
LANGUAGE ARTS

Consider following sentence (Quizmaster: speak slowly.) “Michael provided his family a large income.” (Quizmaster: speak normally.) Identifying which is which, what are the direct and indirect objects of that sentence?

ANSWER: income is the direct object, family the indirect object

BONUS 56
FINE ARTS

Answer with works by John Philip Sousa.

A.
This 1888 work is the official march of the U.S. Marine Corps.


ANSWER: Semper Fidelis
B.
This 1889 march was written for a newspaper.


ANSWER: The Washington Post (March)
C.
This march named for a damaged national treasure was used as the theme for Monty Python's Flying Circus.


ANSWER: The Liberty Bell (March)
D.
This 1931 march, one of Sousa's last, was written for the eponymous 1933 World's Fair in Chicago.


ANSWER: A Century of Progress
TOSSUP 57
SOCIAL STUDIES

Necker and Gardner Islands are located to the northwest of this state. One of its counties is a leper colony with 147 people. It is the only one with a single school district and it has only one incorporated city. It has the largest percentage of Asian Americans in the country. Cities here include Pearl City, Kailua, and Hilo. What state consists of seven main islands? 

ANSWER: Hawaii 

BONUS 57
LITERATURE

Answer these questions about an English poet.

A.
This Romantic poet of the late 18th and 19th century was the Poet Laureate of England from 1843 until his death in 1850.

ANSWER: William Wordsworth

B.
This autobiographical poem of Wordsworth’s early life was not published during his lifetime, but is considered his masterpiece.

ANSWER: The Prelude

C.
“Simon Lee” and “We Are Seven” are poems in this collection by Wordsworth, published in 1798.

ANSWER: Lyrical Ballads, with a Few Other Poems

D.
Also included in Lyrical Ballads was this poem named for a Cistercian foundation situated in southeastern Wales.

ANSWER: Lines Composed a Few Miles Above Tintern Abbey
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